ОПРЕДЕЛЕНИЕ КОНСТАНТЫ ДИССОЦИАЦИИ 

УКСУСНОЙ КИСЛОТЫ  (НAс) кондуктометричес ким методом
	
                       СKCl = 0,02 моль/л;                  RKCl = 236 Ом;

  æКСl = 0,002243 Ом-1∙cм-1;         λ∞ = 350 Ом-1см2моль-1

	С,  НАс моль/л
	R, 

Ом
	Rсреднее, 

Ом
	Постоянная
ячейки, В
	æНАс
	λНАс
	Кдис
НАс
	Кдис
Среднее

	0,03109
	1890
	
	
	
	
	
	

	
	1892
	
	
	
	
	
	

	0,07890
	1086
	
	
	
	
	
	

	
	1087
	
	
	
	
	
	

	0,2550
	644
	
	
	
	
	
	

	
	645
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  = æ-1B, Ом      В = æКСl∙RKCl 
æНАс = B/RHAc, Ом-1см-1                                        
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 λНАс =   æНАс∙1000/CНAс , Ом-1см2моль-1

ОПРЕДЕЛЕНИЕ КОНСТАНТЫ ДИССОЦИАЦИИ 

УКСУСНОЙ КИСЛОТЫ  (НAс) кондуктометричес ким методом
	                       СKCl = 0,02 моль/л;                  RKCl = 234 Ом;

  æКСl = 0,002243 Ом-1∙cм-1;         λ∞ = 350 Ом-1см2моль-1

	С,  НАс моль/л
	R, 

Ом
	Rсреднее, 

Ом
	Постоянная

ячейки, В
	æНАс
	λНАс
	Кдис
НАс
	Кдис
Среднее

	0,03109
	1860
	
	
	
	
	
	

	
	1850
	
	
	
	
	
	

	0,07890
	1081
	
	
	
	
	
	

	
	1066
	
	
	
	
	
	

	0,02550
	641
	
	
	
	
	
	

	
	644
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æНАс = B/RHAc, Ом-1см-1                                        
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